RC4DAT-8G-95 Multi-Channel Attenuator

Rack Mounting Kit

RKT-RC4DAT-2

. RKT-RC4DAT-2

Supported Models

RC4DAT-8G-95

Product Overview

Mini-Circuits’ RKT-RC4DAT-2 is a ready-made kit for rack-mounting a pair of RC4DAT-8G-95 multi-
channel programmable attenuators. The kit includes a 1U 19” rack-mountable panel and all the fittings

needed for mounting and assembly.
Note: RC4DAT-8G-95 is not included.

For larger multi-channel attenuator assemblies the ZTDAT series provides an alternative option, from 8

to 48 attenuator channels in a compact rack-mountable chassis. Click here for more details.

Mechanical Specifications

Dimensions 19” (W) x 1U (H)

Case Drawing 99-01-3198

Case Material

» Aluminum (with protective coating to prevent corrosion)

Panel Items Front Panel Rear Panel
. *CE
Panel Marking Model name ‘EAC

Kit Components

Part Number Quantity | Description

B12-294-01-37+ 1 Front Panel, 1U

B13-294-15+ 2 Mounting Angle, RC4DAT
B13-294-16+ 1 Stiffening Angle

B18-AC-038+ 4 Screw, FL HD, #4-40 x 3/8 LG
B18-ACK-006+ 2 Handle, 1U

B18-AD-044-1+ 3 Screw 82 FL HD #6-32 .438" LG
B18-AE-038-1+ 4 Screw, Pan HD, #8-32 x 3/8 LG
B18-DB-038+ 8 Screw Pan HD #2-56 3/8" LG
B18-HB-002+ 8 Washer FL#2 OD.187/ID.096
B18-JB-001+ 8 Washer Split Lock #2

Ordering Information

Please contact Mini-Circuits’ Test Solutions department for price and availability:

testsolutions@minicircuits.com

1 (16-Jun-21)

[ Mini-Circuits’

www.minicircuits.com | PO Box 35166, Brooklyn, NY 11235-0003, USA | (+1) 718-934-4500 | testsolutions@minicircuits.com

Page 1 of 4


http://www.minicircuits.com/
https://www.minicircuits.com/WebStore/RF-Programmable-Multi-Attenuators.html
mailto:testsolutions@minicirctuis.com

RC4DAT-8G-95 Multi-Channel Attenuator

Rack Mounting Kit RKT-RCA4DAT-2

Assembly Guide

B—AE—D38— P
ﬁfm}f WITH |1_<J:CT|TE 220 ﬁ r//_/f,:fﬁ _—
4 PLCS d_,_,_ﬂ-"'”""'_f @Hf_/_— /_,_,—/-’
W@ o
=T o
T —
2ae@ W B12-294—01—37+

FRONT PAMEL

N
B18—ACK—006+
HANDLE (1U)
2 PLCS

STEF 1.

e ATTACH 2X B1B—ACK—006 HANDLES (1U) TO THE B12-294—-01-37+ FRONT PANEL
USING X4 B18—AE-038—-1+ SCREWS AS SHOWHMN. IMSTALL WITH LOCTITE 220.

B15—294—-15+ —— \‘. )
RC4DAT MOUNTING AMGLE kaﬂ_F ﬂ |

2 PLCS N\, e

B1B—AC—038+
INSTALL WITH LOCTITE 220
4 PLCS

STEF 2.

= ATTACH ZX B13—294—153+ RC4DAT MOUNTING AMGLES TO THE FRONT PAMEL USING X4
B18—AC—038+ SCREWS AS SHOWHN. INSTALL WITH LOCTITE 220.

[--] Mini-Circuits

1 (16-Jun-21
( 6-Ju ) www.minicircuits.com | PO Box 35166, Brooklyn, NY 11235-0003, USA | (+1) 718-934-4500 | testsolutions@minicircuits.com

Page 2 of 4


http://www.minicircuits.com/

RC4DAT-8G-95 Multi-Channel Attenuator

Rack Mounting Kit RKT-RCA4DAT-2
Assembly Guide

RC4DAT—BG—95
(MOT INCLUDED IN KIT)
2 PLCS

STEP 3

= ATTACH 2X RC4DAT—8G—-95 PROGRAMMABLE ATTEMUATORS TO
THE MOUNTING ANGLES USING X8 B1B—DEBE-038+ SCREWS,
B1B—HB—0Q0Z+ SPRING WASHERS, ANMD B18—HB—002+ FLAT
WASHERS AZ SHOWN.

B18—AD—044—1+
INSTALL WITH LOCTITE 220
3 PLCS

P ——— STIFFENING ANGLE

STEFR 4.

= ATTACH B13—294—16+ STIFFEMNING AMGLE TO THE FROMNT PANEL USING X3 B1B—AD—044-1+
SCREWS AS SHOWHN. INSTALL WITH LOCTITE 220.

[--] Mini-Circuits

1 (16-Jun-21
( ) www.minicircuits.com | PO Box 35166, Brooklyn, NY 11235-0003, USA | (+1) 718-934-4500 | testsolutions@minicircuits.com

Page 3 of 4


http://www.minicircuits.com/

RKT-RC4DAT-2

RC4DAT-8G-95 Multi-Channel Attenuator

Rack Mounting Kit

Page 4 of 4

06l ONNOYE0 90V X 8.7 X¥
_ 0vegl ﬁ \
L’\.mw ® ® FUROHOPINE I==g |
dAL N
R ofie o cs o Jlo om0 e e lo | oy
m_w © YO  SHD  THD D © o tHo «40 o Z-LYarON-1oN (@] mw 06”
dAL . } }
S04 w\ L . LLF
¥OLD3NNOD ITYWI4 VWS 90°¢1
(LI 1Md NI @3anionNl LON) SOld ¢

SO1d 2 SO7d ¢

OVl SPrd
mmow;ﬁwum/ F10NVH f/m
/m cl
m O e e e O R e VN o e } ﬁ .
iR dAL 92

2
ﬂ,_

Bl

[ Mini-Circuits’

www.minicircuits.com | PO Box 35166, Brooklyn, NY 11235-0003, USA | (+1) 718-934-4500 | testsolutions@minicircuits.com

— = 7 / ] g - 1
T 1F
h dAl dAL ¥9°1
00°¢ | P
SO1d 2 A
= PR ‘ - HOLVOIONI d31
AR SOTd N\
7 - dAL MIVF 2—asn L
_ e 17T o
SO1d 8
| HOLDINNOD ITYAIS VAS
06" |©O® o _ n — o _ _ _ g o0 @9 f
A1 64 - 645 - 6579 - 649 -— - -—A 609 - 645 - 689 - 639 | SL
i T T
M g oo~ = o] oo e
dAL . ]
— L1V
90°¢1

Outline Drawing (After Assembly)

1 (16-Jun-21)


http://www.minicircuits.com/

